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©) 400 mm = 7 km

DAL X

235 0313 (¢lSU i
St 200x 2

o3 il g5 (SIS, 103

©) 0.2dm* = 7cam?

DAL X

02X (

dab sy glso 17

B 3w diwlgs> LSLS-’)
10-1 2 #
)=0.2x 107 1%2) am?

102
= 0.2x10% cm?

400 x 10°° km




oS > ) O . Cawl 2 (3,135 30 g/dl (5 )lows HuslS o :Jlio
VG ROWRPTTH Y
:olg>

30gr/dl = ?gr/L

d3ub 031> LS‘S" 1 -
Hex T e T 30 X e 300 gr/L

DS s0d 3l (S oS G - S (SR Gl Cul O )gu0 3219

DS o0 (guSe ) 1> 4 > 1) 2o diwlgs 1S 9 200




S Gyl MMOI/L e o .l a2 )18 30 mg/dl

30 mgr/dl = ? mmol/L oz

398 (J5SUg0 oy 4S5l 4 4295 b @3l 0T (JoSUg0 022 b sl ol 23ke 2 jl Uge Sy
1 g Olgd g0 s Cwl180.2 gr/mol

2% a3l slSu 1 1

X o diwlg> G50 1802 Cl0h 1.7 mmol/L

— 2

F9Nse p = 2lm Jg—o SO &S 29 Oy bBNT e

i Jg— 9 )3 Sl 3>l9 7 p5x0
S g P D> 23l slso U™ Canwl SS9 2ad a3y IS s>

S9—b o0 83D diwlys> LSS 9 p S = Lo U Lo o3 diulys

180.2 gr/mol.) b ’9“')

DAL




@ 3.4mg/dl =?gr/L :Jlo
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2.3 830> slSO i 10 X Lo 0034gI'/L

105k

@ Glucose 220 mg/dl = ? mmol/ L (Glucose MW = 180 gr)

5 0313 (SIS '
DI DI (GLV = 220 X 1 X 101_1=12.22 mmOI/L

* oo diwles 1S5 180

DAL

@ Calcium 4 mmol/L = ? mgr/dl (Calcium MW = 40 gr)

2% 830> slSo 40 101
336 X el 4x — X S 16 mg/dl *

~ Q
A NS Q] QUL WY
Q9 ~// 5%Y
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2% a3l SO 1012 |

— X X
B Lwlgs 1SS 160 10—° 10~

; =160 ngr/L

DAL X

@ Phosphorus 4 mg% =? mmol/ L
(Phosphorus MW = 31 gr)

4 mg/dl pla 2 4 mg%
% a3l (1SS | y
e X el s e 1.3mmol/L
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2 03 S e 35z Uolee eanndS i 3 OVl (ST ke 5l
(CaMW = 40gr) Scusl

:olg=>
eSS OVly (ST hao s ¢ panndS (510 95 Cud b 4 4255 L

Cawl p,5 o 20 Uslzo 01

1meq 20 mgr

5 meq X mgr

X =100 mgr




ST 1o 3 1) 39 IS eads 100 MGE Joloo dugs Cg> 1o
o 5 . pul 035k, 400 Ml @ 1) Jsdomo (lgs o> 9 2l 23505 J= -
(CaCl, MW =111 gr/mol) suS Olus 1) Jel=o

:olg=>
Eq=""2=555

1Eq X Eq
55.5 gr 0.1 gr

X=0.002 Eq

400ml _ 1000 ml
0.002Eq  XEq X=0.005 Eq/L
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UT Solade )3 1) C)T jl 20 gr \F18 Il L;,_L-;u, dgi g Lo

(NaCl MW : 58.5 gr) Scusl jVg0 i

1ol 9>
2997 _ 0.3 mol NaCl
58.5 gr
29 J= 0ole sd Jgo Sloss
Cy = 2] i =23mo = mol/L

Pl cunz g Jgdxo x> 1L




) Jlocl 42 o3 IS 3wl 3M Jgdo 500 €C g5 g :Jlic
(a: 37%, d: 1.019, MW : 36.5 gr) sls ploxil 3L -

1ol
3 mol X
L0 - X =1.5 mol
1000 cc  500cc
1mol _ 36.5gr X =054.75gr

1.5 mol i X

b > 903,5 09 ) S35 sl jI 54.75 gr

wilw g x> 4 500 ml »j9j
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Sl yaiz O3 jS 98 (s — 9 20% Jkmo 4V ge ke
(Glucose MW: 180 gr)

1ol 9>
Cawl 028 J> 0180 8r s 35915 20 gr iy ;5915 20% Jgl=o
20gr |
o0 0.11 mol glucose
D g ool ¢l J | oy
gl 359l J=> 05k sb Jge slass _0.11 mol = 1.37 mol/kg

=

—

80
[ —=0.080 kg H,0
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1ol g
d=" 23=XT x=23kg=2300gr dsa T
0.7 =X1T_‘;l X = 0.7 mol sucrose
l
L g, _Xgr e
Mol = i 0.7 = i X = 239.61 gr sucrose

2300 -239.61 =2060.4 grH,0 =2.0604 kgH;0

o __0.7mol _
Ul ge =————~ = 0.34 mol/Kg
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45 ~// 30
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Tl S5 9i)gan
3L G 39,15 09 p S iz b Jakoe jI S, dwian 9L sl s :0ls=

° & Usko 05 )50 L 9838 © b Uge slaws 43 |y il (JgSdgo g,
98 gr/mol G )salgm Suml L;,SJ,‘, e 940 gr/mol s9m  J9Sdg0 p >
s 9 J> Usge 31325 + J> 6,5 130 = 4llge
(2 x 40) + 1000 = 1080 gr NaOH
(1 x 98) + 1000 = 1098 grH, S0,
1098 - 1080 = 18 gr

e
A NS Q] J QUL WY
7 ANl 5%y
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ol Jso xiz +1000 = 1084

56 X+ 1000 = 1084

X=1.5mole KOH

st
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e
40 gr/mol s9u (J9Sse p

0335 Jo Uge 31555 + J> 8 150 = 4o

(1 x 40) + 1000 = 1040 gr

1040 gr |40 gr NaOH
10.4 gr |? gr NaOH 7= 0.4gr NaOH

80
EXX—O.‘I-

X = 0.5 gr NaOH 80%
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10l 9>

C=10ad=10x70x 1.61=1127 gr/L

_Hsmabile q127
Cy= e i 11.5 mole/L
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23 )5 dugd phailo UT 200 gr )5 Jgilio 56 gr s 5 jl 1) (Jels :Jlio

CH;0OH MW: 32 30091 Caws 4 1) Jgikio (Jgo puuS .o
H,0 MW: 18
ol o>
AR gl
MoI—MW Soi 1.75mol CH;OH

Mol =2~ =22 = 11.11 mol H, 0

i mol CH;O0H 175 R .
(XCHBOH) — mol Ci;0H+mol H,0 1.75+11.11 0.13
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Cy1V1=Cp2V>

(ol Jghomo) Bude Jglono JVgo il : Cppq

335l 3adlgs 0 45 pB5 3 )90 Jghme JVge Cuble : Cpyr
Silw Jgkmo Cag 2L 45 )3k Jghoro jl o> : Vg

Cal Jgeomo 45 3915

32 )l 3ulg3 (0 45 Jokomo jl jli 390 x> V3
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(sloon 3190 Jud 4909 Sy

Matenal Hydrochloric acid 32%

ﬂlﬂl—Llhnntnrr

Chemical formula HCI

Molecular mass 36.46 gimol 990 P

Spec denstdy 1.16 glem’ <« LCannni|>

Spechicaton Assay L2 303 - 30-M4 %
Descripton Conforms
identfication A Conforms
identfication B Conlorma
identfication C Conformas
Solubelity Conforms
Relative density at 20 °C 1.18 glem’
Sulfate (50,) s 0.008 %
Appearance of solution Conforms
Heavy metals £ 2 ppm
Residue on evaporation s 001 L

7459 g Free Chionne s 0.004 L



$90 2 3wl SO S 9,00 (JeSdgo p > 9 dnils (o 9lS 30 109>
Ll 208 g O Jud

- 10ad 10 x32 x1.16
d= 1.6 g/cm’ Cy=——-= — =10.18 mol/L

M 36.46
M= 36.46 g/mol
Cy1V1= Cp2V

1018 xV, =3x 250
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